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1.
a. (X bar Chart)
UCL = Ilkz(ﬁ;<h7)
LCL = Yl-z(ﬁyihr)
e.g. 2
0.1 16 25 99.74%
solution: n=16 UCL=2+3(0.1/4)=2+0.075=2.075

LCL=2-3(0.1/4)=2-0.075=1.925
n=25 UCL=2+3(0.1/5)=2+0.06=2.06
LCL=2-3(0.1/5)=2-0.06=1.94

e.g. n=8 20 20 0.016
solution:
UCL =x+ A,R
LCL =x - A,R
n=8,x=23cm,R =0.016 cm A, =0.37
UCL =x+ A,R =3+ 0.37 (0.016 ) = 3.006
ICL =x- A,R =3-0.37 (0.016 ) = 2.994




A Ds D4
2 1.88 0 3.27
3 1.02 0 2.57
4 0.73 0 2.28
5 0.58 0 2.11
6 0.48 0 2.00
7 0.42 0.08 1.92
8 0.37 0.14 1.86
9 0.34 0.18 1.82
10 0.31 0.22 1.78
11 0.29 0.26 1.74
12 0.27 0.28 1.72
13 0.25 0.31 1.69
14 0.24 0.33 1.67
15 0.22 0.35 1.65
16 0.21 0.36 1.64
17 0.2 0.38 1.62
18 0.19 0.39 1.61
19 0.19 0.40 1.60
20 0.18 0.41 1.59
b. (R Chart)

e.g. n=10 25 20

0.01cm

solution:

UucL =D,R

LCL =D.,R

n=10 R = 0.0lcm D,=1.78 D, =0.22
UCL =D,R =1.78(0.01) = 0.0178
LCL = D,R =0.22(0.01) = 0.0022
2.
a. P
100 95.5%




1 14 11 8
2 10 12 12
3 12 13 9
4 13 14 10
5 9 15 11
6 11 16 10
7 10 17 8
8 12 18 12
9 13 19 10
10 10 20 16
Solution: 95.5% z 2

UucL , =p+ 2z g5,

LCL , = p -2,

p = = 220 = 0.11

20 (100 )
6p:\/p(1—p) :\/0.11(1—0.11) 003
n 100
ucL , =0.11 + 2(0.03 ) = 0.17
LCL , =0.11 - 2(0.03) = 0.05
b. C
C 18
z=2
1 3 11 3
2 2 12 4
3 4 13 2
4 5 14 4
5 1 15 2
6 2 16 1
7 4 17 3
8 1 18 1
9 2
10 1
Solution:




c = -5 _ 55
18

UCL _=c+ 2+c =25+ 2-/2.5 = 5.66

LCL _=c-2+c =25-2+/2.5=-0.66 0
D.
e.g 20
(z=2) 11
A/B | U/D A/B | U/D
1 B - 10 11 B D 10.7
2 B U 10.4 12 A U 11.3
3 B D 10.2 13 B D 10.8
4 A U 11.5 14 A U 11.8
5 B D 10.8 15 A D 11.2
6 A U 11.6 16 A U 11.6
7 A D 11.1 17 A D 11.2
8 A U 11.2 18 B D 10.6
9 B D 10.6 19 B U 10.7
10 B U 10.9 20 A U 11.9
Solution: A/B 10 u/p 17
N 20
=—+1=—+1=11
E(r) 5 >
2N-1 2(20)-1
N-1 [20-1
o \/ 4 \/ 4
\/16N ~-29 \/16(20) -29
O, =——— =,—2"—-=18
90 90
Z
10-11
= =—0.46
yA 2.18
17 -13
= =222
Z 1.8




i.
continuous improvement
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IV.
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C.

(operating characteristic curve):



